            Respostas ao exercício do encontro 16.

2- R= mdc(1203, 3099) = mdc(1203, 1896) = mdc(1203, 693) = mdc(693, 510) = mdc(510, 183) = mdc(183, 327) = mdc(183, 144) = mdc(144, 39) = 3.

3- R= mdc(162, 372) = mdc(162, 48); mdc(18, 48) = mdc(48, 18); mdc(18, 48) = mdc(18, 12); mdc(12, 18) = mdc(12, 6) = 6.

4-R= mdc(339, 1407) = mdc(339, 51); mdc(51, 339) = mdc(51, 33); mdc(33, 51) = mdc(33, 18); mdc(18, 33) = mdc(18,15); mdc(15, 18) = mdc(15,3) = 3.

5-R= mdc(2282, 7063) = mdc(2282, 217); mdc(217, 2282) = mdc(217, 112); mdc(112, 217) = mdc(112,105); mdc(105, 112) = mdc(105, 7) = 7.



